BIOLOGY

BOOKS - EVERGREEN BIOLOGY
(ENGLISH)

HUMAN POPULATION (GROWTH AND
DISTRIBUTION)

Review Questions


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Name the following:

Most thickly populated country.

o Watch Video Solution

2. Name the following:

Most thickly populated state in India

o Watch Video Solution



https://dl.doubtnut.com/l/_2vWsgK12NrAZ
https://dl.doubtnut.com/l/_kulqxezTzSme

3. Name the following:

Most thickly populated city in the world.

o Watch Video Solution

4. Name the following:

Most thickly populated city in India.

o Watch Video Solution



https://dl.doubtnut.com/l/_NcHdOn6CI8fH
https://dl.doubtnut.com/l/_miPnX2zuDeVV

5. Name the following:

Country having maximum population

o Watch Video Solution

6. Name the following:
The statistical study of the human population

of a region.

o Watch Video Solution



https://dl.doubtnut.com/l/_9JFtz1RRIf7S
https://dl.doubtnut.com/l/_GirFC6WTwnry

7.Name the following:
The number of individuals inhabiting per unit

area.

o Watch Video Solution

8. Rewrite the given statements by inserting a
suitable word! words at the right place. Do not
delete any word already given in the

statement. Underline the inserted word Words


https://dl.doubtnut.com/l/_GtMBVmGf0s43
https://dl.doubtnut.com/l/_RCfMcve3hYGF

Death rate is the number of deaths of the

given 4. population per year.

° Watch Video Solution

9. Rewrite the given statements by inserting a
suitable word! words at the right place. Do not
delete any word already given in the
statement. Underline the inserted word Words
11th July is celebrated as World Population Day
because billionth baby of the world was born

on this day.

| e |


https://dl.doubtnut.com/l/_RCfMcve3hYGF
https://dl.doubtnut.com/l/_InqEgADNukcg

& Wwatch Video Solution I

10. Fill in the blanks
1000 millionth baby of India was born on the

day of........... 2000.

° Watch Video Solution

11. Fill in the blanks
......... day of every year is recalled as World

Population Day.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_InqEgADNukcg
https://dl.doubtnut.com/l/_7eAGfFFnGbro
https://dl.doubtnut.com/l/_lU9Wn1h6A60y

12. Fill in the blanks

Inherent capacity of a population to increase

under optimal conditions is called............ :

° Watch Video Solution

13. Fill in the blanks

................. . Is the scientific study of population

o Watch Video Solution



https://dl.doubtnut.com/l/_lU9Wn1h6A60y
https://dl.doubtnut.com/l/_wfzeA6QdH1oO
https://dl.doubtnut.com/l/_4vL9DoUnOqQ2
https://dl.doubtnut.com/l/_qMhXF67neBQu

14. A permanent method of birth control is

o Watch Video Solution

15. Fill in the blanks
.................. is the maximum limit of an ecosystem
up to which it can provide the basic needs to a

population under given set of conditions.

° Watch Video Solution



https://dl.doubtnut.com/l/_qMhXF67neBQu
https://dl.doubtnut.com/l/_HdgYI0HxtVOn

16. Define the following terms:

Demography

o Watch Video Solution

17. Define the following terms:

Population

o Watch Video Solution



https://dl.doubtnut.com/l/_iFIejSYFTyrV
https://dl.doubtnut.com/l/_TDhGUQUuWugU

18. Define the following terms:

Population Explosion

o Watch Video Solution

19. Define the following terms:

Tubectomy

o Watch Video Solution



https://dl.doubtnut.com/l/_KbikJF0IuO2G
https://dl.doubtnut.com/l/_yU04Nga0g00C

20. Define the following terms:

Mortality

o Watch Video Solution

21. Define the following terms:

Emigration

o Watch Video Solution



https://dl.doubtnut.com/l/_6O069wIpnWxJ
https://dl.doubtnut.com/l/_bhwg05jFFFJh

22. Define the following terms:

Birth rate

o Watch Video Solution

23. Define the following terms:

Death rate

o Watch Video Solution



https://dl.doubtnut.com/l/_CbYhNYzF6lIQ
https://dl.doubtnut.com/l/_yyT8dKyieLMM

24. Define the following terms:

Immigration

o Watch Video Solution

25, Define the following terms:

population density.

o Watch Video Solution



https://dl.doubtnut.com/l/_ClNBF9IW86dQ
https://dl.doubtnut.com/l/_58h4cvKyRNkY

26. Define the following terms:

Natality

o Watch Video Solution

27. Give three most important reasons of

population explosion in India

o Watch Video Solution



https://dl.doubtnut.com/l/_qfzCRhZWCOu3
https://dl.doubtnut.com/l/_HHZ1SAO8VxWg

28. Suggest some measures to control the

human population.

o Watch Video Solution

29. What is the present rate of growth of
population of the world and of our own

country ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QyJVzom9LSkc
https://dl.doubtnut.com/l/_r411prSWwBGB

30. Sterilization in men means preventing the
flow of sperms into the seminal vesicles by
cutting or ligating the vas deferens. Can there
be a corresponding operation mode in

women? If yes, where?

o Watch Video Solution

31. What are the negative consequences of

urbanization?

° Watch Video Solution



https://dl.doubtnut.com/l/_1eRXTUWFvFhE
https://dl.doubtnut.com/l/_rW4dzKvkpkF9

32. What are the uses of studying population?

o Watch Video Solution

33. Given below are hypothetical figures in
regard to population (in crores) of two

countries X and Y during the last three

decades.
Country 1971 1981 1991
X 8.4 9.8 10.8
Y 14.3 14.3 137

From the above data complete the following


https://dl.doubtnut.com/l/_rW4dzKvkpkF9
https://dl.doubtnut.com/l/_2SY8F8Ma38l7
https://dl.doubtnut.com/l/_ovFE4Calkdr3

sentences :

(i) Rate of growth of population of country

............. has declined between years ... and
(i) the country ... shows negative
population growth between years ... and
(i) The country .. shows positive
population growth between years ... and

° Watch Video Solution



https://dl.doubtnut.com/l/_ovFE4Calkdr3
https://dl.doubtnut.com/l/_4hUUcS7jahMM

34. Discuss various factors that affect

population size and density.

o Watch Video Solution

35. Discuss various consequences of increase

in population density.

° Watch Video Solution

36. Give technical term for the following:

Surgical method of sterilization in human


https://dl.doubtnut.com/l/_4hUUcS7jahMM
https://dl.doubtnut.com/l/_fVySYH9AqGmP
https://dl.doubtnut.com/l/_pgmrX4kKb0r5

female.

o Watch Video Solution

37. Give technical term for the following:
A method of contraception in which the sperm

duct is cut and ligated.

o Watch Video Solution

38. Give technical term for the following:

The number of persons living per square


https://dl.doubtnut.com/l/_pgmrX4kKb0r5
https://dl.doubtnut.com/l/_vDB5EAKveZq7
https://dl.doubtnut.com/l/_EmvIcF7o5MP4

kilometre at any given time.

o Watch Video Solution

39. Give biologicaVtechnical term for the
following

Statistical study of human population.

o Watch Video Solution

40. Give biological term for the following

The difference between the birth rate and the


https://dl.doubtnut.com/l/_EmvIcF7o5MP4
https://dl.doubtnut.com/l/_VzCezoAfiVUb
https://dl.doubtnut.com/l/_3m7Y3POkQKPk

death rate.

o Watch Video Solution

41. State true or false:
Mortality is the number of deaths per

thousand of the population per decade.

o Watch Video Solution

42. Rewrite by inserting the keyword in the

space indicated "’


https://dl.doubtnut.com/l/_3m7Y3POkQKPk
https://dl.doubtnut.com/l/_h7rBC9g1hQpG
https://dl.doubtnut.com/l/_7cedEGaGLaQq

Birlh rate is the number of '™’ birth per

thousand of the population per year.

° Watch Video Solution

43. Mention three reasons why the growth of
population has not been appreciably checked

in India

° Watch Video Solution



https://dl.doubtnut.com/l/_7cedEGaGLaQq
https://dl.doubtnut.com/l/_zFaG8E69PvhS

44, Mention three main reasons for the sharp

rise in '"Human population' in the world

° Watch Video Solution

45, What are the age restrictions for marriage

for boys and girls in India

o Watch Video Solution

46. Give three advantages of small family



https://dl.doubtnut.com/l/_pRO4APp7w8xt
https://dl.doubtnut.com/l/_7bbJmZthVcKr
https://dl.doubtnut.com/l/_etDqRkpkMdoG

o Watch Video Solution

47. Differentiate between the following pair on
the basis of what is mentioned within bracket.

vasectomy and Tubectomy (Explain)

o Watch Video Solution

48. Differentiate between the following pair on
the basis of what is mentioned within bracket.

Natality and mortality (definition).

| & I


https://dl.doubtnut.com/l/_etDqRkpkMdoG
https://dl.doubtnut.com/l/_axrGPuNTGbQw
https://dl.doubtnut.com/l/_qOGBkL6AfBc9

| ¥ Watch Video Solution |

49, Differentiate between the following pair on
the basis of what is mentioned within bracket.
Demography  and Population  density

[Definition]

o Watch Video Solution

50. Choose the correct answer from each of

the four options given below:


https://dl.doubtnut.com/l/_qOGBkL6AfBc9
https://dl.doubtnut.com/l/_c2VriUz6gOoP
https://dl.doubtnut.com/l/_zikCDsqHe77R

Surgical method of sterilization in a woman

involves cutting and tying of:

A. Ureter

B. Uterus

C. Urethra

D. Oviduct

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zikCDsqHe77R

51. Give biological reason for the following
statement

Cutting of trees should be discouraged.

o Watch Video Solution

52. Give biological reason for the following
statement
Education is very important for population

control.

° Watch Video Solution



https://dl.doubtnut.com/l/_ImFl55j8pmuB
https://dl.doubtnut.com/l/_WIfr3AKPr3X5

53. Give biological reason for the following
statement

The birth rate in India is very high.

° Watch Video Solution



https://dl.doubtnut.com/l/_WIfr3AKPr3X5
https://dl.doubtnut.com/l/_J6isBS9zbLOZ

